

PO No. | 4000011286

Ship To: Center ID: ARBA CITY OF SAN DIEGO FLEET SERV-MIRAMAR PL 8353 MIRAMAR PL San Diego CA 92121-2511

Vendor ID: 10006985

Bill To:

**FLEET OPERATIONS** 2740 CAMINITO CHOLLAS SAN DIEGO CA 92105

Date: 01/04/2018

Page 1 of 7

Billing Contact: Ariba RFC Account

Telephone:

Vendor:

Genuine Parts Company dba NAPA auto Parts 5420 Peachtree Industrial Blvd Norcross GA 30091-1858

Terms: within 30 days Due net

**Delivery Terms:** Destination

Deliver on or before:

Phone: 858-278-8907 Buyer:

CoSD Purchasing

Telephone: 619-236-6000

2 3	Blower Control Switch  Non-Deductible Tax  PRESSURE RELIEF VALVE  Non-Deductible Tax  INJ FUEL SUPPLY TUBE	5 EA 3 EA	USD	10.13	USD	50.65 3.92 364.47
	Non-Deductible Tax  INJ FUEL SUPPLY TUBE		USD	121.49		364.47
3					USD	28.25
	Non-Deductible Tax	3 EÁ	USD	41.24	USD USD	123.72 9.59
4	INJ FUEL SUPPLY TUBE  Non-Deductible Tax	3 ЕА	USD	49.17	USD USD	147.5 11.43
5	OIL PAN Non-Deductible Tax	3 EA	USD	251.73	USD USD	755.1 58.53
6	NITROGEN SENSOR  Non-Deductible Tax	3 EA	USD	435.83	USD USD	1,307.4 101.33
7	SHROUD ASSY  Non-Deductible Tax	2 EA	USD	558.84	USD USD	1,117.6 86.62
8	kit  Non-Deductible Tax	6 EA	USD	9.99	USD USD	59.94 4.65
9						

Notes: The Terms and Conditions of this Purchase Order are available at http://sandiego.gov/purchasing/

**SEE LAST PAGE FOR TOTAL** 

IMPORTANT!



PO No. | 4000011286

Ship To: Center ID: ARBA CITY OF SAN DIEGO FLEET SERV-MIRAMAR PL 8353 MIRAMAR PL San Diego CA 92121-2511

Vendor ID: 10006985

Bill To:

Phone:

**FLEET OPERATIONS** 2740 CAMINITO CHOLLAS SAN DIEGO CA 92105

858-278-8907

Date: 01/04/2018

Page 2 of 7

Billing Contact: Ariba RFC Account

Telephone:

Vendor:

Genuine Parts Company dba NAPA auto Parts 5420 Peachtree Industrial Blvd

Norcross GA 30091-1858

Terms:

within 30 days Due net

**Delivery Terms:** Destination

Deliver on or before:

Buyer:

CoSD Purchasing

Telephone: 619-236-6000

			relephone. 019-230-0000			
Line#	Item ID/Description	Quantity/UM	Unit Price	Extended Price		
	MOTOR HEATER  Non-Deductible Tax	3 EA	USD 128.87	USD 386.61 USD 29.96		
10	Air Filter (Gold)  Non-Deductible Tax	3 EA	USD 20.47	USD 61.41 USD 4.76		
11	HOSE SUPPORT BOX CLAMP  Non-Deductible Tax	3 EA	USD 59.15	USD 177.45 USD 13.76		
12	SPICER U JOINT  Non-Deductible Tax	2 EA	USD 62.48	USD 124.96 USD 9.68		
13	PROTECH BOX  Non-Deductible Tax	2 EA	USD 462.73	USD 925.46 USD 71.73		
14	TIE ROD  Non-Deductible Tax	3 EA	USD 175.79	USD 527.37 USD 40.87		
15	COOLANT LEVEL JUMPER  Non-Deductible Tax	3 EA	USD 76.72	USD 230.16 USD 17.84		
16	SENSOR  Non-Deductible Tax	3 EA	USD 46.29	USD 138.87 USD 10.76		
17	,					

Notes: The Terms and Conditions of this Purchase Order are available at http://sandiego.gov/purchasing/

**SEE LAST PAGE FOR TOTAL** 

IMPORTANT!

To ensure prompt payments, PO # must appear on all shipments and invoices; and, all invoices must be directed to *Billing* Contact person at Bill-To address listed above

Ste. 200



PO No. | 4000011286

Ship To: Center ID: ARBA CITY OF SAN DIEGO FLEET SERV-MIRAMAR PL 8353 MIRAMAR PL San Diego CA 92121-2511

Bill To:

FLEET OPERATIONS 2740 CAMINITO CHOLLAS SAN DIEGO CA 92105

Date: 01/04/2018

Page 3 of 7

**Billing Contact:** Ariba RFC Account

Telephone:

Vendor:

Genuine Parts Company dba NAPA auto Parts 5420 Peachtree Industrial Blvd Norcross GA 30091-1858

Terms:

within 30 days Due net

**Delivery Terms:** Destination

Deliver on or before:

Buyer:

CoSD Purchasing

Telephone: 619-236-6000

Vendor ID: 10006985

Phone: 858-278-8907

Line#	ltem ID/Description	Quantity/UM	Unit Price	Extended Price
	CYLINDER EXTENSION  Non-Deductible Tax	2 EA	USD 409.11	USD 818.22 USD 63.41
18	COMPRESSOR  Non-Deductible Tax	3 EA	USD 185.98	USD 557.94 USD 43.24
19	Fuse ATM (Mini) Footprint Circuit Breake  Non-Deductible Tax	6 EA	USD 4.04	USD 24.24 USD 1.87
20	Fuse ATM (Mini) Footprint Circuit Breake  Non-Deductible Tax	6 EA	USD 4.04	USD 24.24 USD 1.87
21	FILTER . Non-Deductible Tax	- 4 EA	USD 74.12	USD 296.44 USD 22.98
22	S CAM BRACKET  Non-Deductible Tax	4 EA	USD 189.02	USD 756.0 USD 58.59
23	CHAMBER ASSY  Non-Deductible Tax	4 EA	USD 179.05	USD 716.2 USD 55.50
24	STRIKER PIN  Non-Deductible Tax	10 EA	USD 10.94	USD 109.4 USD 8.48
25				

Notes: The Terms and Conditions of this Purchase Order are available at http://sandiego.gov/purchasing/

**SEE LAST PAGE** FOR TOTAL

IMPORTANT!



PO No. | 4000011286

Ship To:

Center ID: ARBA

CITY OF SAN DIEGO FLEET SERV-MIRAMAR PL

8353 MIRAMAR PL San Diego CA 92121-2511 Bill To:

FLEET OPERATIONS 2740 CAMINITO CHOLLAS SAN DIEGO CA 92105

Date: 01/04/2018

Page 4 of 7

**Billing Contact:** Ariba RFC Account

Telephone:

Vendor:

Genuine Parts Company dba NAPA auto Parts

5420 Peachtree Industrial Blvd Norcross GA 30091-1858

Terms:

within 30 days Due net

**Delivery Terms:** Destination

Deliver on or before:

Buyer:

CoSD Purchasing

Telephone: 619-236-6000

Vendor ID: 10006985

Phone: 858-278-8907

Line#	item ID/Description	Quantity/UM	Unit Price	Extended Price
	CAB LATCH  Non-Deductible Tax	10 EA	USD 144.37	USD 1,443.70 USD 111.89
26	DECEL VALVE  Non-Deductible Tax	3 EA	USD 418.71	USD 1,256.13 USD 97.35
27	ELEMENT  Non-Deductible Tax	6 EA	USD 37.91	USD 227.46 USD 17.63
28	BRAKE ARM  Non-Deductible Tax	4 EA	USD <sub>.</sub> 148.44	USD 593.76 USD 46.02
29	HOSE ASSY Non-Deductible Tax	5 EA	USD 66.35	USD 331.75 USD 25.72
30	HOSE Non-Deductible Tax	5 EA	USD 89.60	USD 448.00 USD 34.72
31	CART CLAMP  Non-Deductible Tax	6 EA	USD 5,688.67	USD 34,132.02 USD 2,645.23
32	END CHAIN SPRING COVER  Non-Deductible Tax	30 EA	USD 34.13	USD 1,023.90 USD 79.35
33				
			OFF I A	OT DAOE

Notes: The Terms and Conditions of this Purchase Order are available at http://sandlego.gov/purchasing/

SEE LAST PAGE **FOR TOTAL** 

**IMPORTANT!** 



PO No. | 4000011286

Ship To: Center ID: ARBA CITY OF SAN DIEGO FLEET SERV-MIRAMAR PL 8353 MIRAMAR PL San Diego CA 92121-2511

Bill To:

FLEET OPERATIONS 2740 CAMINITO CHOLLAS SAN DIEGO CA 92105

Date: 01/04/2018

Page 5 of 7

**Billing Contact:** Ariba RFC Account

Telephone:

Vendor:

Genuine Parts Company dba NAPA auto Parts 5420 Peachtree Industrial Blvd Norcross GA 30091-1858

Terms:

**Delivery Terms:** 

Destination

Deliver on or before:

within 30 days Due net

Vendor ID: 10006985

Phone:

858-278-8907

Buyer:

CoSD Purchasing

Telephone: 619-236-6000

Line#	Item ID/Description	Quantity/UM	Unit Price	Extend	led Price
	FOLLOWER PLATE  Non-Deductible Tax	5 EA	USD 1,227.05	USD USD	6,135.25 475.49
34	BENDIX VALVE D2A  Non-Deductible Tax	6 EA	USD 53.67	USD USD	322.02 24.96
35	PTO GASKET  Non-Deductible Tax	10 EA	USD 8.40	USD USD	84.00 6.51
36	ST4 VALVE  Non-Deductible Tax	6 EA	USD 39.30	USD USD	235.80 18.28
37	4 V BAND CLAMP  Non-Deductible Tax	20 EA	USD 17,35	USD USD	347.00 26.90
38	STICK HOSE  Non-Deductible Tax	6 EA	USD 24.37	USD	146.22 11.33
39	Radiator Cap  Non-Deductible Tax	10 EA	USD 4.43	USD USD	44.30 3.43
40	FITTING  Non-Deductible Tax	30 EA	USD 9.51	USD USD	285.30 22.12
41					

Notes: The Terms and Conditions of this Purchase Order are available at http://sandiego.gov/purchasing/

SEE LAST PAGE FOR TOTAL

IMPORTANT!



PO No. | 4000011286

Ship To: Center ID: ARBA CITY OF SAN DIEGO FLEET SERV-MIRAMAR PL 8353 MIRAMAR PL San Diego CA 92121-2511

Bill To:

**FLEET OPERATIONS** 2740 CAMINITO CHOLLAS SAN DIEGO CA 92105

Date: 01/04/2018

Page 6 of 7

**Billing Contact:** Ariba RFC Account

Telephone:

Vendor:

Genuine Parts Company dba NAPA auto Parts 5420 Peachtree Industrial Blvd Norcross GA 30091-1858

Terms:

within 30 days Due net

Delivery Terms: Destination

Deliver on or before:

Vendor ID: 10006985

Phone:

858-278-8907

Buyer:

CoSD Purchasing

Telephone: 619-236-6000

Line#	item ID/Description	Quantity/UM	Unit Price	Extended Price
	Tire Repair Insert Plug	120 EA	USD 0.54	USD 64.80
	Non-Deductible Tax			USD 5.02
42	V BAND CLAMP	15 EA	USD 23.65	USD 354.75
	Non-Deductible Tax			USD 27.49
43	DRAIN VALVE	10 EA	USD 105.37	USD 1,053.70
	Non-Deductible Tax			USD 81.66
44	AIR FILTER	25 EA	USD 39.06	USD 976.50
	Non-Deductible Tax			USD 75,68
45	LUBE FILTER .	48 EA	USD 25.15	USD 1,207.20
	Non-Deductible Tax			USD 93.56
46	TURBO SPD SENSOR KIT	3 EA	USD 222.28	USD 666.84
	Non-Deductible Tax			USD 51.68
47	SENSOR	3 EA	USD 22.73	USD 68.19
	Non-Deductible Tax			USD 5,28
48	HORN KIT	4 EA	USD 101.80	USD 407.20
	Non-Deductible Tax			USD 31.56

Notes: The Terms and Conditions of this Purchase Order are available at http://sandiego.gov/purchasing/

#### SEE LAST PAGE **FOR TOTAL**

#### **IMPORTANT!**



PO No. | 4000011286

Ship To: Center ID: ARBA CITY OF SAN DIEGO FLEET SERV-MIRAMAR PL 8353 MIRAMAR PL San Diego CA 92121-2511

Vendor ID: 10006985

Bill To:

FLEET OPERATIONS 2740 CAMINITO CHOLLAS SAN DIEGO CA 92105

Date: 01/04/2018

Page 7 of 7

Billing Contact: Ariba RFC Account

Telephone:

Vendor:

Genuine Parts Company dba NAPA auto Parts 5420 Peachtree Industrial Blvd

Norcross GA 30091-1858

Terms:

within 30 days Due net

**Delivery Terms:** Destination

Deliver on or before:

Buyer:

CoSD Purchasing

Phone: 858-278-8907 Telephone: 619-236-6000 Quantity/UM **Unit Price Extended Price** Line# Item ID/Description Notes: 61,657.53 Line Item Total \$ Notes: The Terms and Conditions of this Purchase Order are available at http://sandiego.gov/purchasing/' Tax 4,778.48 66,436.01 PO Total IMPORTANT! To ensure prompt payments, PO # must appear on all shipments and invoices; and, all invoices must be directed to *Billing* Contact person at

Bill-To address listed above

Ste. 200